Southwest Medical

TOLLFREE: 800-236-4215 Your partner in health and mobility for over 25 years!
Parts Menu

Search by part # =)
Q6 Edge

Articulating Beam / Wheels
Batteries
Battery Charger
Caster Arm / Suspension
Decals / Owners Manual
Drive Wheels
Electronics / Modules
Footrest Platform
Joystick / Master Controls
Main Frame
Motors / Susp. / Freewheel
Motors
I- Song
I-Song Motors
Accu- Trac
Standard (Discontinued / Replaced W/ I- Song)

Motor Mount / Freewheel / Suspension

Seat Mounts / Interface
Shrouds

Q6 Edge
Name: Q6 Edge: I-song Motors
Manufacturer: Pride Mobility


https://www.southwestmedical.com/replacement-parts/pride-mobility/q6-edge/motors-susp-freewheel/motors/i-song/i-song-motors

Pos.

Al
Bl
Cl
D1
El
Fl1
Gl
H1
11

J1

K1

L1

M1
N1
O1

P1
Q1

Part #

MOT131092-

06

MOT131093-

06

MOT131092-

07

MOT131093-

07

MOT131092-

11

MOT131093-

11

MOT131093-

08

MOT131092-

08
MOT132969

MOT132968
MOT132974

MOT132973
KIT150479
HDW131753

HDW131752

Please Note: The motors on the unit are affixed with a data plate that contains the motor part number
(MOT1310x0x¢-30x). This number may differ from the items in the pans list. To assure that the proper
motor is selected, please ulilize the information in the parts list and not from the motor data plate

v
I -

2

| ('
M10 % 126, GrB ° |

\
K103 St rabad Washer \ ° /
Bade Ky S

Curtis Connector Drive Motors Dynamic Connector Drive Motors

5 MPH - Qs Euige O B G e - HIZE= 8 MPH - Je23

11 |Right| MOT 132968 || K1 |Hlﬂ1l MOT 132074

Q6 Edge

A1 | Right| MOT131062-06| | C1 | Right| MOT 131069207

4| Left FJ“T13?MH| L1 |Laﬁ MOT132973

B1 | Left |MOT131093-06| | D1 | Left | MOT131093-07

6 MPH - 044 (Fival JRIBN 8 MPH - CRA4 (Rival) PG Drives Connector Drive Motors
D1 | Right MOT131093-07| | G1 | Right| MOT131093-08 5 MPH - 24
C1 | Lelt | MOT131092-07) | H1 | Leht |MOT131092-08 E1 |Right| MOT131082-11

F1 | Lef (MOT131083-11

The Compiete Drive Motor includes the Whee! Mounting Hardware (M1). They DO NOT include
the Motor Mounting Hardware. The model specific hardware MUST be selected separately.

04 o Qi

ng Harc

C - e T Ser B ion of mator
Pelcaunts 10 cubsd 1o poricn of mober P ,.... 'E]
\
— = —
Yo
ME-1 0w 00 Gir 129 Mounis to inner top
portian of motaor
Maurls 1o innar bop portion of molor (a ‘_E %2
- A S Bl
W10 x 20MM, Or 129 =L

) X3
i Mounts Tha Slop Block Av | Right

Ab5-1 0 x Z0MM, Gr. 128 !T':I-P wi F 1 1
S 51 | Leht

ST 0 Z0MIM, Gir, 12.9

(Click on image to enlarge)

Description

THIS IS THE RIGHT 5 MPH I-SONG MOTOR ASSY FOR THE Q6 EDGE, Q6 EDGE X, CURTIS CONNECTOR

THIS IS THE LEFT 5 MPH I-SONG MOTOR ASSY FOR THE Q6 EDGE, Q6 EDGE X, CURTIS CONNECTOR
THIS IS THE RIGHT 6 MPH I-SONG MOTOR ASSY FOR THE Q6 EDGE, Q6 EDGE X or THE LEFT 6 MPH I-SONG
MOTOR ASSY FOR THE QR44, CURTIS CONNECTOR

THIS IS THE LEFT 6 MPH I-SONG MOTOR ASSY FOR THE Q6 EDGE, Q6 EDGE X or THE RIGHT 6 MPH I-SONG
MOTOR ASSY FOR THE QR44, CURTIS CONNECTOR

MOTOR, ASSY, I-SONG, MTR-GRB-BRK, 21.33:1, 160 RPM, 6 MPH, PG R-NET
MOTOR, ASSY, I-SONG, MTR-GRB-BRK, 21.33:1, 160 RPM, 6 MPH, PG R-NET
THIS IS THE RIGHT 8 MPH I-SONG MOTOR ASSY FOR THE QR44, CURTIS CONNECTOR

THIS IS THE LEFT 8 MPH I-SONG MOTOR ASSY FOR THE QR44, CURTIS CONNECTOR
MOTOR, ASSY, I-SONG, 5 MPH, 125 RPM, INDIVIDUAL BRAKE LEVERS, RIGHT, QGEDGE, DYNAMIC
CONNECTOR

MOTOR, ASSY, I-SONG, 5 MPH, 125 RPM, INDIVIDUAL BRAKE LEVERS, LEFT, QGEDGE, DYNAMIC
CONNECTOR

MOTOR, ASSY, I-SONG, 6 MPH, 160 RPM, INDIVIDUAL BRAKE LEVERS, RIGHT, QGEDGE, DYNAMIC
CONNECTOR

MOTOR, ASSY, I-SONG, 6 MPH, 160 RPM, INDIVIDUAL BRAKE LEVERS, LEFT, QSEDGE, DYNAMIC
CONNECTOR

KIT, ASSY, WHEEL MOUNTING HARDWARE, SONG & I-SONG MOTORS
SCREW, SHFH, BLACK ZINC, M6-1.0 X 40MM, GR 12.9, W/PATCH

SCREW, SHFH, BLACK ZINC, M6-1.0 X 20MM, GR 12.9, W/PATCH

SCRSHCS1084 SCREW, SHCS, BLACK ZINC, M6-1.0 X 35MM, GRADE 12.9

SCRSHCS1192 SCREW, SHCS, BLACK ZINC, M6-1.0 X 20MM, GRADE 12.9

Price B

uy
$749.70 | 1

§749.70 1|

$74970 1

$749.70 1

N/A Please Call

N/A Please Call

$74970 1

$749.70 1

N/A Please Call
N/A Please Call
N/A Please Call

N/A Please Call

$2380 1
$3.60 1
s 1
$360 1
360 (1|



https://www.southwestmedical.com/replacement-parts/pride-mobility/MOT131092-06.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/MOT131093-06.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/MOT131092-07.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/MOT131093-07.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/MOT131092-11.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/MOT131093-11.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/MOT131093-08.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/MOT131092-08.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/MOT132969.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/MOT132968.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/MOT132974.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/MOT132973.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/KIT150479.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/HDW131753.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/HDW131752.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/SCRSHCS1084.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/SCRSHCS1192.html

Pos. Part # Description

R1 MECI124637 EDGE MOTOR MOUNT STOP WELDMENT, RIGHT
S1 MECI124636 EDGE MOTOR MOUNT STOP WELDMENT, LEFT

T1 SCRSHCS1015 SCREW, SOCKET HEAD, M6X1.0 X 30, ISO 4762, CL 12.9, BZ

Contact Information

5330 North 16th Street
Phoenix, Arizona 85016
800-236-4215
602-279-0952
Mon-Fri / 8:00AM - 5:00PM PST

Copyright 2021 » SouthwestMedical.com « All rights reserved » SouthwestMedical.com, LLC

Price

$11.60
$11.60
$3.60

1
1
1

=
=
<

Add
Add

Add


https://www.southwestmedical.com/replacement-parts/pride-mobility/MEC124637.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/MEC124636.html
https://www.southwestmedical.com/replacement-parts/pride-mobility/SCRSHCS1015.html
https://www.southwestmedical.com/

